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I x mwn: difference between 2”yny 7121 against other nwp
a  »”mpo. may be sold and slaughtered in P90’ and weighed on regular scale
b 2711 1153 benefit will go to owner - may not be sold and slaughtered in rYv>x nor weighed on regular scale
i Nonetheless: 1131 may be weighed on using regular meat as counter
¢ Inference: 1132 may be sold at home, per v. 1 —not redeemed, but sold as on while alive
i However: 2”yn (per v. 2) may not even be sold
ii ~ »”: was bothered by this and resolved it via Xn»12 (& insisted on having his name mentioned in re per vv. 3-4)
I xna:2%yn of orphans (need funds) may be sold; 2”yn that was slaughtered may be sold ny%ana of pelt, 25n, 1 or horns
a  Solutionl (»2ax): all one statement; 2”yn of orphans may be sold nyYana
i Challenge: why not allow anyone to sell ny51n31, as we do with »nR during nvnw (sell 2915 nyvana)
ii ~ Answer: in that case, it may be a legitimate price; here, it is clear that the price is for the meat (loophole)
1 Challenge (837): why does it state 2”yn twice?
b Solution2 (x#37): 2 rulings; 2”yn of orphans may be sold normally; 2”yn of an adult, if slaughtered, sold nyYana
i Support: v. 2 — mmn can only be while alive, and that is when it may not be redeemed
1 Implication: may be redeemed after no’nw; but 1121 prohibited, as precaution against redeeming while alive
2 But: only those things which are estimated while alive (e.g. meat) are included in nm
(a) Not: pelts, 0’abn, sinews or horns (which aren’t n»nn myw»)
(b) And: for pm, the 1127 kept the law at the Xn»1RT stage (all is 1mn after nonw)
ii  Support: pn¥» 7 72 HRINW 17 also maintains MM’ YV 1”yn may be sold in the usual fashion
1 Per:v.5-it gives benefit to its owners only after no'nw (unlike regular n”moa, which can be redeemed)
¢ Tangential question: does nY91n extend to bones?
i 227 93 ;o "1 871 1. one allows, the other disallows
1 Proposall: no dispute — allowance — noa nnna (where bones are substantial) vs. npT Nnna
2 Proposal2: both are no; in one DIN’s town, they were sold at a significant price and nyYan is reasonable
d  Revisiting ¥r7772: and distinction between 7121 (sold) and 2”yn (may not be sold)
i Source: My "M 17: HRY RY (v. 2) compares with mnan (v. 7), where it also stipulates 131> 85
1 27227 YR» RY must be mam; if not, we could challenge w1 — onan apply to everything, unlike 2”yn
(@) 77 7773 897 77 indeed, it is MaM; YRY RY (in ©'NIN) could’ve been inferred from a"yn:
(i) Just as: 2”yn is W11p and can’t be redeemed, so too NN are V17p and can’t be redeemed
1. Therefore: 98» RY is extra, to connect ©’n7N to TWYN to extend 121’ RY to 2"yn
(ii) Challenge: pnn don’t have “peripheral nw1Tp”, unlike 2”yn (9,10t and 11t all potential 2”yn)
(b) Rather: Y98» RY of »'nIn could’ve been inferred from 7131 (>M9m Dused to teach 131> RY for 2”yn)
(i) Challenge: 121 is sanctified at birth
(c) Rather: 98» RY of 2”yn is extra; could’ve been inferred from 7131 via nyayn::nayn
(i) Challenge: as above (1131 has onin nwITP)
1. Defense: nnayn itself is mom in re: 7132
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(ii) Challenge: if so, infer to 1132 from pIn (and disallow any sale!)
1. Answer: YR» RY in 2"pn is extra; N79N RY in re 131 is not extra (cannot infer from nIN)
2. Challenge: why are we reading Y8» &Y (2"yn) as extra and n7an 85 (1131) as necessary?
a. Answer: we prefer to infer n91Rx::19R), rather than noRx::n79
b.  Challenge: why — we are comfortable comparing nR2::n22w (v. 6)
i.  Answer: where we have a closer match, we favor that
(iii) Challenge: infer nqayn::n1ayn to connect N1 MOR to 2
1. Answer: R0 (v. 7) excludes 132
2. Challenge: why not use X1 to exclude wyn?
a. Answer: 7WYN uses NYINI (same as DNIN)
il N27 5R» RY (V. 7) unnecessary — wherever the nn is, it is moot
1 If: it is still with owner — it is wTpn (v. 7)
2 If: the jn3 already got it, it is P9 (v. 8) and he may sell it
3 Therefore: Y8R» RY (v. 7) must be redirected to 2”yn
(a) Challenge: perhaps it should be redirected to 7132
(b) Answer: 7wyn uses NN like nnIN
iii - wN 77 "R RY” (V. 2) means 190 RY
1 Proof: v. 2 has to be o»nn (else, nmnn is impossible) >n% i is forbidden while alive
(a) Implication: it is permissible after death — but there is no n>7ym nTyn possible
(i) Therefore: H98» RY must mean 1217 RY
(ii) Challenge: this line of argument is only valid if we say that namn »»7p require n>7Ym nTAYN
(iif) Response: meaning of argument: we find nothing that can only be redeemed after death
1. Counter: after nonv, it’s NWITP is weaker, should be more easily redeemed
2. Block: after death, it isn’t strong enough to “hold” v19
a.  Therefore: 58y XY means 731 RY
(iv) Challenge: why doesn’t the nmn simply write 7217 8Y?
1. Answer: had it done so, we would have thought it could be redeemed (maintains value to w1pn)
2. Therefore: "N wrote YR» XY —may not be sold, nor redeemed
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